> A
A & 0l & AF 2 E A A
20198 &= =S0la LB AL S
AN A4S0
S S AN
el SADIBIAIEES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A& NSt 46,660,864 44,145,914 2,514,950
= 1,429,000
s 11,900,936
= 2,267,660
s 31,063,268
S AR 2,539,324 1,919,948 619,376
= 140,000
s 1,058,000
[ia 1,341,324
S ADJIBHAIE &= 2,539,324 1,919,948 619,376
= 140,000
s 1,058,000
s 1,341,324
SAHEESZ SFEZIHAY 400,000 730,000 A330,000
401 AIEHI L 201 400,000 730,000 A330,000
01 A& HI 397,120 724,564 A 327,444
OZAMHAEEZTZ(222-1)A T IHE S A
100,000,000& *141%99.28/100 99,280
OSAMAEEZZ(L21-6) & AL
300,000,000& =141%99.28/100 297,840
03 Al S THHI 2,880 5,436 A 2,556
OZAMAEEZZ(2Z22-1)A T IHE S A
100,000,000& *141%0.72/100 720
OZAMAEEZZ(LZ21-6) & AL
300,000,000& *14A1%0.72/100 2,160
SAIHE A 2el 778,324 594,948 183,376
= 140,000
i 638,324
201 Let2d| 168,524 64,524 104,000
01 At 22l 58,900 54,900 4,000
OZHEZU&3 =& 150,000 «6H ~122] 10,800
OZAHEJs = 150,000& 15 x103] 22,500
OZANAHEEZ D=8 Bz
300,000& »12& 3,600
Oz &l HE goets I M2Z20=
1,500, 000& «24 A 43| 12,000
OHEERd A5 10,000, 000& * 14 10,000
02 =24l 109,624 9,624 100,000
OZHZE 3322 (&I,4%+5)
500,000& =122 6,000
OMAHRIIIAE E2E HIIRS
50,000& +x12& 600
OkldseH 423 5,000& 128 60
OREFU(ZAHEGRFN) 2,964
— &I 2,1703 «100& « 128 2,604
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— gt 3003 x100& «12& 360
OZAMAEANE FX22l(==Al)
10,000,000& * 103l 100,000
202 oddl 7,800 8,424 A 624
01 SLHOYI 7,800 8,424 A 624
OZAHE HSEX(EH)
130,000& x5 «12& 7,800
401 Al B2 28I 602,000 522,000 80,000
= 140,000
e 462,000
01 A& HI 602,000 522,000 80,000
OZAIHE A4 X 22l (=Al) 100,000
—ZANHEEZ HWEHE L A= M
10,000,000& =102l 100,000
OZAMHEZZ DIE2EXN BA(ZANHEEZZ, 2
T, SHEEZE, sEHLANY S)
100,000, 000& * 14! 100,000
otzd 2 FdAad 100,000, 000& * 14 100,000
OZAMAEHFIEFMA(WPIS)R X 22l At
22,000,000& =14 22,000
OXSuWs otEatd MEAIG (G2 uit2)
280,000,000& =14 280,000
= 140,000
s 140,000
Z2elHE =8 200,000 20,000 180,000
401 AIEBIZ 28I 200,000 20,000 180,000
01 A& Bl 200,000 20,000 180,000
OTATHA M2HE U BH5HEY 222
200,000,000 =14l 200,000
SADJIBHAIE S S X 3,000 5,000 A 2,000
203 YR =2l 3,000 5,000 A 2,000
03 AIMFAH S =AY 3,000 5,000 A 2,000
O3otollarete & 2P =& 3,000,000 3,000
N2 ISTFAS 1,158,000 300,000 858,000
s 1,058,000
[ia 100,000
401 AIEHIZ 28I 1,158,000 300,000 858,000
s 1,058,000
s 100,000
01 A& Hl 1,150,705 300,000 850,705
OO Ind-Culture & 32t THAH (S
FFXE ZF) 1,158,000,000& *99.37/100 1,150,705
s 1,058,000
s 92,705
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Ha: C AN
CHSl: TAIDIBHAl S 2 S
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SA BB (SH) - NRAY - B %@i 2t
03 Al&E 201 Y| 7,295 0 7,295
OXotD S |nd-Culture 2&22t ZHA (2
AF=XA LA 1,158,000,000 x0.6299/100 7,295
NESLE DX A ,096,000 0 3,096,000
= 596,000
= ,500,000
ANEHE JBAIE &5 ,096,000 0 3,096,000
= 596,000
= ,500,000
Kot HE=A & SR A AFY ,096,000 0 3,096,000
= 596,000
= ,500,000
401 A& HI L 204 HI ,096,000 0 3,096,000
g 596,000
= ,500,000
01 A& H| ,076,495 0 3,076,495
OUESHN EXHI ZLH(EXNLZAH])
2,000,000,000& %x99.37/100 1,987,400
Og%%é} Xl -|§+C|-I| I/\‘I}\I.O-l
1,096,000,0002 *99.3699/ 100 1,089,095
g 596,000
= 493,095
03 Al 201 Y| 19,505 0 19,505
OYgE=4a HEESIHX
XHE(EXIE24HH]) 2,000,000,000€ x0.63/100 12,600
OYE=4 EESIHX =4 MY
1,096,000,000& *0.63/100 6,905
E=RCLN I =" ,988,000 3,918,000 70,000
NS 78 e ,988,000 3,918,000 70,000
s&E KNS ALY ,988,000 3,918,000 70,000
401 Al HI L £ 0HHI ,988,000 3,918,000 70,000
01 Al& H| ,947,000 3,918,000 29,000
OF& AtH ez HH| S At
20,000,000 x 1Al 20,000
OXot stdES S HALX HHIZBAH
30,000,000 x 1Al 30,000
O & s ZTAZ2A 10,000,000& = 1Al 10,000
OB} 2& =2 Z&Z2A 15,000, 000& = 1Al 15,000
OFH 23 JAZ2HHIZAF 10,000,000 1A 10,000
OFd &H A= HH|IZBAH 25,000,000& = 14! 25,000
O MM OHMEIAZ AL 20,000,000 x 1Al 20,000
O M2 s2 EXHZ2A 2,000,000& x 14! 2,000
OF#H ot=s s=2EZHZ2AF 20,000,000 14 20,000
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EX: A4 ns
MM F A O
Sl XS 2 N CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OFd sEAS JEHE HH|Z2A
30,000,000 = 14! 30,000
OYe I8 HHIZ A 20,000,000 * 14! 20,000
O&FF SIIsSE=Z2A 15,000,000 » 1Al 15,000
OFH A0S 2 THIEZ & Z2 At
20,000,000& = 14! 20,000
OXot S22 =2 2 At
15,000,000 = 1Al 15,000
OFH AHA AR L AZA
25,000,000& = 14! 25,000
OXFH 28| s EHZAH 8,000,000 x4l 8,000
OFH H&el s=2EZHZAF 15,000,000 14 15,000
OXIOH Al S s LA B A} 15,000,000 » 1Al 15,000
OS8 845 s ZEZ2A 20,000,000& = 14! 20,000
OFXIOH BHRIP| QAQAURES S22 L ZZ2A
10,000, 000& = 1Al 10,000
OXIOF Ol ot L& Z A} 20,000,000 =14 20,000
O X ot LA B A} 10,000, 000& * 1Al 10,000
O&Ior t=2 MM =HH| B3 A 10,000,000 « 1Al 10,000
Oz RA SHZA 10,000,000 1Al 10,000
OMe =8 T4 FUIZA
20,000,000 x 1Al 20,000
OFH JIXl =2 HH|lS3At
10,000,000 « 1Al 10,000
O 822 T2 HHIZ2A
20,000,000 x 1Al 20,000
O2&e A= &=Z2A 20,000,000 = 14! 20,000
OEH Sl &l LEAZA
10,000,000& = 1Al 10,000
03 Al&E 201 Y| 41,000 0 41,000
OsZ=XNY9INeLAIS AlEE Y|
41,000,000 =14l 41,000
CE2HLES A 5,980,131 5,081,355 898,776
& 77,274
= 5,902,857
T2 E&= 2,650,000 2,550,000 100,000
=& ST AAY 2,200,000 700,000 1,500,000
401 Al HI L 2 0HHI 2,200,000 700,000 1,500,000
01 A& H| 2,185,330 695,590 1,489,740
OBt~ =2t E 2 &I A2 AH(L=1.3Kn)
600,000,000 x99.28/100 595,680
ORE6S(HRSH) AT ST EHZ2AHL=0.9
05km) 1,300,000,000& x99.37/100 1,291,810
OREH T2 T2 AH(L=0.4km)
300,000,000 x99.28/100 297,840




EX: A4 ns
M CRALHTE
oYl E2Y 5 (29l 8)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
03 Al&E 201 Y| 14,670 4,410 10,260
OBt~ =2 S 2SI E 2 AH(L=1.3km)
600,000,000& x0.72/100 4,320
O2cos(HsH) MAT 2T H 2 AHL=0.9
05km) 1,300,000,000& *0.63/100 8,190
OREH T2 A2 AHL=0.4km)
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SHEZZ SIZAAL 450,000 1,850,000 A 1,400,000
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01 A& H| 446,760 1,836,680 A 1,389,920
OQAatols & 22 AF(L=0.3km)
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30,000, 0003 *14] 30,000
Ootg "Xl th=384l3 At 15,000,000& * 14| 15,000
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OfFA Xath=2Z2FHl S A 10,000,000 =14 10,000
OXA 2HOIS BH=2 -2 A
10,000,000 =14 10,000
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15,000,000 =14 15,000
OFH LIS =2 HH| SAH
10,000,000 =14 10,000
O &8 8+ x2S At
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OFd S0 ==& X3 A
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=clAdE s 1,147,909 400, 158 747,751
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201 LEt2 Y| 3,012 25,261 N 22,249
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OM=X B3 At 50,000,000& *2H 2~ 100,000
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SN ALDES
o sYFWAYS
=9 M AD| B | SREED

5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OlIotg HEsS s2EZ&HBAM
20,000,000 x 14! 20,000
& 14,000
= 6,000
Od4H ZS0I2 BSAMFEY AX2A
30,000,000 = 14! 30,000
= 21,000
= 9,000
Od4+H SX0I2 =2 SMHIA
20,000,000 = 14! 20,000
& 14,000
= 6,000
OF&EH AHOI2 Hix==2 Ul Z2A
10,000,000 =1 Al 10,000
& 7,000
= 3,000
OStdH S IHOI= Hizx== ZHlZ2Al
10,000,000 =1 Al 10,000
& 7,000
= 3,000
OCtMH T2t0IS =2 AH|Z2 At
10,000,000 =1 Al 10,000
& 7,000
= 3,000
Oklotg dxF= =5 AUl SA
15,000,000 = 1Al 15,000
& 10,500
= 4,500
SOt H (AN EME ) 750,000 750,000 0
Fag 600,000
= 150,000
401 AlEHIZL 2 0HY| 750,000 750,000 0
= 600,000
= 150,000
01 Al&H| 737,550 745,275 NT,725
O%C2lAI&dME % 750,000,000 x98.34/100 737,550
Fag 600,000
= 137,550
02 22l 12,450 4,725 7,725
O=xclAI8IE %+ 750,000,000 x1.66/100 12,450
SYE AHHY 2,100,000 1,200,000 900,000
401 AlEHIZL 201 Y| 2,100,000 1,200,000 900,000
01 Al&H| 2,092,440 1,192,440 900,000
OsHZE L2 AHS0M A)
2,100,000,000& x99.64/100 2,092,440
03 Al&E 201 Y| 7,560 7,560 0
O=sHZ2FHIHLZAHSE0MA)
2,100,000,000€ x0.36/100 7,560
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Mol AAE XS HH (EX) 500,000 690,000 A 190,000
= 250,000
< 100,000
s 150,000
401 Al HI R 201 I 500,000 690,000 190,000
= 250,000
< 100,000
s 150,000
01 A& 8l 490,550 678,282 AN187,732
O & M==XIZHlIAS
250,000,000% *2 Xl 2+98.11/100 490,550
= 250,000
S 100,000
s 140,550
02 Zeltl 9,450 11,718 A2,268
OMoll ¢ 8 Xd==XIEH A
250,000,000 »2XI = *1.89/100 9,450
No#H=sMeH HHEH(SsIE A5ES) 287,420 80,000 207,420
s 229,936
< 17,245
s 40,239
401 Al HI K 201 287,420 80,000 207,420
s 229,936
< 17,245
s 40,239
01 A& HI 287,420 80,000 207,420
ORAZE JAHXNYE =HIIEAY
287,420,000 » 14! 287,420
s 229,936
S 17,245
s 40,239
StoH CH 28 A 80,000 0 80,000
< 40,000
s 40,000
401 Al HI K 201 I 80,000 0 80,000
< 40,000
s 40,000
01 A& HI 80,000 0 80,000
ONSHAXNY ALE E+=3 HEAY
80,000,000& =14l 80,000
< 40,000
s 40,000
SIIeEH (2D 8HA ) 625,000 625,000 0
s 500,000
< 62,500
s 62,500
401 AIEHI L 20HEI 625,000 625,000 0
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HE: sABMAYS
© s MAIBHEH| (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
e 500,000
= 62,500
= 62,500
01 A& HI 625,000 621,063 3,937
Ogolerdt| 625,000,000 =14 625,000
s 500,000
< 62,500
[ia 62,500
S BHEBI (=0 222X &) 625,000 625,000 0
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401 AIEBIZ 201 8I 625,000 625,000 0
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s 62,500
01 A& Hl 625,000 621,063 3,937
O=0lZAS MOt XI & 625,000,000 14 625,000
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SEHEHEH 14,396,432 17,013,500 A2,617,068
s 8,292,000
= 1,226,500
s 4,877,932
SEXSMHL A (XHAN) 1,396,332 1,860,000 AN 463,668
401 Al HI 2 28I 1,396,332 1,860,000 AN 463,668
01 A& HI 1,385,001 1,860,000 A474,999
SSHATA 2w HAXSA
700,000,000% *141%99.37/100 695,590
O =2 HHIZA
55,000,000& »141%99. 1/100 54,505
O8Y AT NAEI S A
250,000,000% *141%99.28/100 248,200
OLElIOS =2 F b3 Al
70,000,000 *141%99. 1/100 69,370
OR&0t= =2 FHIS A
50,000,000 »141%98.92/100 49,460
Outthis Dttt SH I A
170,000,000& =141 %x99.28/100 168,776
OIS =2 & SZEZEHIA
100,000,000% *141%99.1/100 99,100
03 Al 20 HI 11,331 0 11,331
OsEX ML AS (KHH)AIE2THYI
11,331,000& 14 11,331
ML E=2FJ | 200,000 200,000 0
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401 Al HIZ 201 Y| 200,000 200,000 0
01 Al&HI 198,560 200,000 A 1,440

Oftsiy 2@ MY HHIBA
200,000,000% *141%99.28/100 198,560
03 AIE 2 THHI 1,440 0 1,440
O&YETZ2FHl A=
200,000,000% * 141 «0.72/100 1,440

M&EHl S A 338,000 320,000 18,000
401 A EHI 22Ol 338,000 320,000 18,000
01 A& HI 335,000 320,000 15,000

O BIENEZHISA 20,000,000 » 14! 20,000
Osg &k SUHEEISAM 25,000,000& =14 25,000
Os8 Rreh Awe AX3 A
20,000,000& =14 20,000
ORF stAlZ MAZHI S A 20,000,000 14 20,000
OZIQH Ot = NMEFHISA
15,000, 000& 14! 15,000
O&ler JAckek AIAFHIZ A 20,000,000 * 14 20,000
O&et HHtR=E AF3A 20,000,000 =14l 20,000
ORF 2L== NMEZHISA
20,000,000& =14 20,000
O&d=s &Y NEHHISA 20,000,000& =14 20,000
ORH RLAEEEISA 20,000,000& =14 20,000
O=fH NS MAZBIZA 15,000,000 » 14 15,000
OxIoH HHLIR = A ZHIS A
15,000, 000& * 14! 15,000
OFd & HEEHISA 15,000, 000& 14! 15,000
O&et HEAHMNMEZHSAH EHES
20,000,000& =14 20,000
Od EEXZc| SE0tS MAZHIZA
25,000,000& =14 25,000
Oontg AHMANEZEISA 20,000,000 » 14! 20,000
OfF &M= MEZH S A 25,000,000 141 25,000
03 Al 2 0HHI 3,000 0 3,000
OMEZHIZSA AIE20HYI 3,000,000 » 14! 3,000
SEZFIIBEES A 814,000 0 814,000
s 570,000
s 244,000
401 Al HIZ 201 I 814,000 0 814,000
s 570,000
s 244,000
01 A& HI 808,872 0 808,872
OMestd I ALY 814,000,000& *99.37/100 808,872
s 570,000
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o 238,872
03 Al 2 THHI 5,128 0 5,128
OMe st A I HI ALY 814,000,000 *0.6299/100 5,128
A28 0S4 JIEtAlA 600,000 300,000 300,000
401 Al B2 28I 600,000 300,000 300,000
01 A& HI 595,680 297,840 297,840
O4LA2 0S4 JIEtAtd
600,000,000% *99.28/100 595,680
03 A& =TI 4,320 2,160 2,160
O4LA2 0S4 JIEtAtd
600,000, 000& *0.72/100 4,320
HACESEoe 15,200 0 15,200
< 7,600
i 7,600
307 glz2+ol & 15,200 0 15,200
< 7,600
i 7,600
02 RIZFE MM E X 15,200 0 15,200
ORTAACS SHHLNT SYV2AX LM
15,200, 000& 14! 15,200
< 7,600
e 7,600
sSESANELS(LEXF) 4,708,000 5,713,000 A 1,005,000
s 3,294,000
= 565,400
fia 848,600
101 124 dl 61,200 19,200 42,000
04 JI2ZHHZ2XREES 61,200 19,200 42,000
T sESAX SHSIMY ARE HE
1,600,000 x1H x12& 19,200
O=d SESHN 243AY MRZE 2l
100,000 x1H +x12& 1,200
O8Y SES&X 243Ag MR2E WS
1,600,000 x1H «x12& 19,200
O8Y SESEN Z43AY MRZE 2l
100,000 x1H x12& 1,200
Octd SESHX Z43AE MRE WS
1,600,000 *1H 1201 & 19,200
O¢td SESHX Ed3AY MRZE 2l
100,000 x1H «12& 1,200
301 g2 L= 18,000 0 18,000
09 SALAHIEA S 18,000 0 18,000
OFd sESHA 243y FAJ X
500,000& = 12& 6,000




SN AM
XMZIH: =A
L= B o g
==
==

el

A B3-S (3AH) - MIRAY - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

O8Y SEz4X EHNY =09 Xa
500,0002! * 122 6,000
O SEZAX EHHANY FTAA X2

500,000& =128 6,000

401 AIEHIZ 2 I 3,946,800 883,800 3,063,000
2,818,000
483,000
645,800

Mo A

01 A& HI 3,937,818 877,299 3,060,519
& 3tAL
2,459,618,000& =14 2,459,618
1,747,000
299,000
413,618

O
M
ra
O
Thi
O
o>
P
nfor
tol

HH A

O
00
0
O
Tt
O
0z
pal
]
0x
k_gj
>
it

739,600,000 =14 739,600
536,000

92,000
111,600

Moo

738,600,000 =14 738,600

535,000
92,000
111,600

03 Al S THHI 8,982 6,501 2,481

EUNCINEY)

2,495,000,000& *0.36/100 8,982

403 A EHHSXH=0lA 682,000 4,810,000 A4,128,000
476,000
82,400
123,600

HH A

t I 682,000 4,810,000 A4,128,000

682,000,000& =14 682,000
476,000

82,400
123,600

EUNCINEY)

Ot
I
Of
0z
=
iy
0x
o
[
H
=
1

1,005,000 3,857,000 A2,762,000
766,000
131,600
197,400

Moo

403 AXIEHHS =0l A 1,005,000 3,857,000 A2,762,000
766,000
131,600
197,400

Moo

S I 1,095,000 3,857,000 A2,762,000

At
td sESAX 243ArY
1,095,000, 000 14! 1,095,000
766,000

&Y




2N
X ZH -
L= B

el

Z

3

O O 1Y
h 12 mx
0z oY KJ
Mg 02! o
oy &

0 fon

all (Sl & &)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

131,600
197,400

M

[=)
1o
f
40
O
o
¥
ne

,430,000 919,000 511,000
,000,000
100,000
330,000

Mo A

401 AIEHIZ 2 I

,430,000 621,000 809,000
,000,000
100,000
330,000

HH A

—_

01 A& HI

C=XotS

,430,000 616,529 813,471

n
40
o
o
ox

HIAH

601,000,000& =14l 601,000
420,000
42,000
139,000

HH A

OAENS

n
40
o
o
ox

HIAH
429,000,000& =14l 429,000
300,000
30,000
99,000

Mo

200,000,000 =14l 200,000
140,000
14,000
46,000

Mo A

100,000, 000& =14 100,000
70,000

7,000
23,000

A

®
0
O
=
o
o
uin
S
o
il

he)

100,000,000 = 14! 100,000
70,000
7,000
23,000

EUNCINEY)

OF
h
O
i
al
e
0x
ton
an
il
>
1
N

,685,600 500,000 2,185,600
,882,000
321,600
482,000

Moo

101 1Al 20,400 19,200 1,200

04 JIZtHNZ22 s+ 20,400 19,200 1,200
AL ALRE THE
1,600,000& x1H 12 19,200
FAFY AMPSE B HI

100,000& 18 x12& 1,200

O
™
e
O
Tt
O
o>
P
nfor
0x
tol

O
™
e
O
Tt
O
o>
>
nfor
0x
tol

301 €EtE A= 12,000 0 12,000

09 HALMHI BN = 12,000 0 12,000




2N HENED
BH: soAMAYs
Sl SEMHHATY CEEEED
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
OlIot sESAXN 2HSAME =AY X
1,000,000& =12& 12,000
401 AlEHIZL 2 0HY| 2,653,200 480,800 2,172,400
hag 1,882,000
= 321,600
= 449,600
01 Al&H| 2,653,200 477,200 2,176,000
OfIot sEZAX 2HSAYE
2,653,200,000& 14! 2,653,200
= 1,882,000
[ 321,600
= 449,600
I =MEHE 914,300 0 914,300
hag 640,000
= 82,300
= 192,000
401 AlEHIZ 20 Y| 914,300 0 914,300
hag 640,000
= 82,300
= 192,000
01 Al&H| 914,300 0 914,300
OSE JIx=MENESHEAY
714,300,000& * 1Al 714,300
= 500,000
== 64,300
= 150,000
Oatd JI=MENESHEAY
200,000,000& * 1Al 200,000
= 140,000
= 18,000
= 42,000
sEUS=E 200,000 0 200,000
hag 140,000
= 18,000
= 42,000
401 AlEHIZL 2 0HY| 200,000 0 200,000
hag 140,000
= 18,000
= 42,000
01 Al& H| 200,000 0 200,000
S sEUS=EIAY 200,000,000 1Al 200,000
rag 140,000
o= 18,000
iy 42,000
HEADNSHH =X 8,081,955 7,429,514 652,441
= 782,000
Fag 125,000
& 461,141




EX: A4 ns
MY dADEREEX
Sl DEHRBASH (B9 ®R)
(o
SA BB (SH) - NRAY - B Ol At o %@i HRE2
o 6,713,814
nNESEHHEAS A 7,830,954 6,990,514 840,440
= 782,000
Fag 125,000
&< 461,141
= 6,462,813
FOPNEAHA EE 249,908 223,385 26,523
2 10,000
= 1,751
= 238,157
201 B9 193,870 178,885 14,985
01 AP 22| H| 45,900 43,493 2,407
OnS2 A HALg
70,000 x10¥ 13| 700
ORI DECH& Y| mwww#z
2,000,000 * 1004 &~ 20,000
OUEZEAN & WEAD Y EE2 HZ
3,000,000 7= 21,000
ORNSHS=a M M=
4002 x7Z*1,5000H 4,200
02 E2=2=2%H| 147,970 135,392 12,578
OEIYU(MsxH2E) 18,270
— Bt 3302 *x3,000& x12& 11,880
— S| 2,130 x2500H x 12& 6,390
OCCTVEDI =2 X3S (XS 2 =2-2005~201
g AX2) 1,300,000 x12& 15,600
OCCTVEDIR2 S (s, 0SeY sss)
700,000 «12& 8,400
OcCTVve 236 AIE2 X2 8,000,000 «12& 96,000
OMBHOI HEAAEY MBI LAEE
600,000& x12& 7,200
OuUESHNsSsS &L ASHOWI MI|&H o8 EH
2,500,000 *13] 2,500
202 044l 10,200 9,440 760
01 2L I 10,200 9,440 760
ONSHE ALEX(5Y)
130,000& x5H ~12& 7,800
ONSXHUENE T4 L HASE
20,000& x2Y x53| x12& 2,400
207 I & 40,000 20,000 20,000
= 10,000
= 30,000
01 s 40,000 20,000 20,000
OsHE € DEHA AXNZTAS
Z0,000,000%*1¢! 20,000




EX: A4 ns
MY dADEREEX
Sl DEHRBASH (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OMAXt HAISE A S9H|
20,000,000 x 14! 20,000
= 10,000
= 10,000
301 LBt A= 5,838 12,260 NB,422
= 1,751
= 4,087
12 JIEtE2 A= 5,838 8,900 N 3,062
QAN RBIELE=2 XA 3,000,000& =14l 3,000
o=} 900
= 2,100
OEAIRZ IIE E46lE XNE 2,838,000 «14! 2,838
& 851
= 1,987
DEHE AL 2 776,197 426,661 349,536
== 47,800
= 728,397
101 @121 H| 56,697 52,661 4,036
04 JI2ZtHIZ22NEES 56,697 52,661 4,036
OHAZOISLE &H2AA 56,697
A== 69,0703 2% %248 34,259
— WEt| 2,000 x2H %248 992
— =4 4 0009 x2H x248 1,984
— =53¢ 69,070& x2H x523 7,184
— X 75,070 22 x123] 1,802
— @A S| 300,000 x2H x23| 1,200
— =0 HI(XHE) 6,000) x2H x248L 2,976
—4Eg = 50,397,0002 *12.5% 6,300
201 et H9d| 5,000 0 5,000
01 AP 2t 2| H| 5,000 0 5,000
OHASZE stFae 2372Y
5,000,000 =14l 5,000
401 Al HI L 204 HI 714,500 374,000 340,500
o= 47,800
= 666,700
01 Al&H| 714,500 374,000 340,500
QUEHMEX T Y SAI22| (SHIAHSF)
50,000,000& = 14! 50,000
ONEASI N L S S 2=(SHIFH )
70,000,000& = 14! 70,000
OHASZLHE EHAS I oI} HI|AHIZA
800,000 1000 & 80,000
OXNEHEM 2 LHTAl SK 22| (SHIEH )
40,000,000 =14l 40,000
O XNNE EXAY 3,800,000 1504 &~ 57,000




AN A4S0
MY dADEREEX
Sl DEHRBASH (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OBAHE & XIAHY 850,000& 554 46,750
OAs2d & 12,000,000& «5H 2~ 60,000
ORNs2d £X 750,000 2004 2 15,000
ONSAHALES SANUBL (VY L AS4E
) 40,000,000& =14 40,000
OgZgws M EXEHAX 3,200,000 204 64,000
OHAs2d & RHSLE SN (SIHH A
) 30,000,000& =14 30,000
OXEAHSEX 65,000& *550 4 35,750
OuUSCHEAIE=S ZHIAE 100,000,000 141 100,000
< 40,000
s 60,000
OEHEE o2& 2ZJ &X
5,000,000 =34 2 15,000
< 4,500
s 10,500
OHAs2d B 2HS &X
2,200,000 *50H A~ 11,000
< 3,300
s 7,700
Heol E5FYAMAAY 280,000 55,000 225,000
s 100,000
< 40,000
[ia 140,000
401 AIEHI L 201 280,000 55,000 225,000
s 100,000
< 40,000
[ia 140,000
01 A& Hl 280,000 55,000 225,000
ONB0IEESFS HH ALY
20,000,000 =44 2~ 80,000
< 40,000
s 40,000
OngloletdE s elZegt =
200,000,000 =14 200,000
s 100,000
s 100,000
JIEt NG SEMASE (HASLZHLZTIHAIESE 146,300 154,000 A7,700
x)
s 25,000
e 121,300
401 A& HIZ 201 I 146,300 154,000 AT,700
s 25,000
s 121,300
01 A& HI 146,300 154,000 AT,700
OHASZE EFALIOR AX
2,520,000 *500H 2 126,000
15,000




EX: A4 ns
MY dADEREEX
Sl DEHRBASH (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 111,000
OEtA 22t &R 290,000 x700H A~ 20,300
g 10,000
= 10,300
DNEAX ELWELCHEHQ SEAl) &= 226,687 145,000 81,687
=2 30,000
o 196,687
307 QI2t0| ™ 226,687 145,000 81,687
=2 30,000
= 196,687
02 AI2tAAMAIE E =X 226,687 145,000 81,687
OXMOUSEHAN2IXA 226,687,000 * 1Al 226,687
2 30,000
= 196,687
LOIBS RIS ALS 20,000 0 20,000
= 10,000
= 10,000
401 A& HI L 204 HI 20,000 0 20,000
= 10,000
= 10,000
01 Al&H| 20,000 0 20,000
OLoEs3Y HAAY 20,000,000& =10 A 20,000
< 10,000
= 10,000
2494 It 2X & 912,000 912,000 0
307 2iz2to| A 912,000 912,000 0
09 2LHAHEBEX2 912,000 912,000 0
O24YH(sHEHA AL SRS SIOE
= 76,000,000 x12& 912,000
HOE2IEYLRIX 108,201 99,926 8,275
< 2,185
= 106,016
101 Q124 H] 26,675 24,569 2,106
04 JI2ZtHIZ22NEES 26,675 24,569 2,106
OHAHDIY SHAEHl AR AMA 26,675
—Je22 69,0703 1 %248 17,130
— st 2,000 x 13 »248! 496
— g4l 4,000 x 18 #2482 992
—F53E 69,070& x1H x52= 3,592
— X 75,0702 12«12 901
— HAE S| 300,000 x23| 600
—AEE = 23,711,000€ x12.5% 2,964
201 et 9| 5,000 5,000 0
01 AP 2t 2] H| 5,000 5,000 0




EX: A4 ns
MY dADEREEX
Sl DEHRBASH (B9 ®R)
5 - 4
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
O22HAHDY & 2EF2Y
50,000& 1008+ A 5,000
301 LBt A= 29,557 29,557 0
12 JIEtE A2 29,557 29,557 0
OZ2EHAHOYE MHEx=x2 I
2,463,040 x12& 29,557
307 2Iz2t0| A 40,800 40,800 0
09 2L AHEXZ2 40,800 40,800 0
OHAHDOY HEY oAHH X
3,400,000& x12& 40,800
402 SI2vXH=20| ™ 6,169 0 6,169
o 2,185
= 3,984
02 CIZEXIEAIS E X (0| XM THL) 6,169 0 6,169
OAAEHOIE MY 769,000 =10 2 769
& 385
= 384
OHDE EAM2ZEH N&
5,400,000& *1JH & 5,400
& 1,800
o 3,600
2 ABIS KNS AS 26,740 116,000 A 89,260
403 XX SHHS K20 & 26,740 116,000 N 89,260
02 BI2SHUSRA=2EAEAISHI 26,740 116,000 A 89,260
OHAEBA A (BIS)SXE
26,740,000 x 1Al 26,740
SLEAHEABMISH 2,390,413 2,412,560 N22,147
& 167,605
= 2,222,808
307 2Iz2to| & 2,390,413 2,412,560 N22,147
== 167,605
= 2,222,808
09 2LHAHEXZ2 2,390,413 2,412,560 N22,147
OZUHA HXeNd =AM Z
91,000,000 x12& 1,092,000
Os0HE LANEA BEHA FAUXA
100,000,000 *60% 60,000
OHASUQIM =ABAZ
48,923,000 x12& 587,076
OS0EHA 82 2484 N
1,000& *25,000& 25,000
O=sHEHA 22 IEXLES2XE
50€ %110,0003! 5,500
O=sHEHAMEXN S 51,736,400 x12& 620,837
= 167,605
= 453,232




2N
X ZH -
L= B

el

Bl x oy

S4DED
NDESHHEN
SHAWAST

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
wsolsad=2d 86,000 76,800 9,200
307 gl2tol & 86,000 76,800 9,200
09 2HAHAEXS 86,000 76,800 9,200
OLZHA(MGoNS)EABAZ
86,000,000& =14 86,000
DESIMA2EX 15,000 42,000 A 27,000
307 21201 A 15,000 14,000 1,000
02 It S AMHEL 15,000 14,000 1,000
OQusAR(Lo)as2z 10,000, 000& * 14! 10,000
Onszd BAA nsHARX AS
5,000,000& x13l 5,000
Jotz? dH=ESHA 29 1,308,000 935,000 373,000
= 654,000
s 654,000
307 glz2tol & 1,308,000 695,000 613,000
= 654,000
s 654,000
09 2HAHEXES 1,308,000 695,000 613,000
OH=SSHA(HAl) X
130,800,000& 1074 & 1,308,000
= 654,000
s 654,000
FXEAIL 22 283,000 150,000 133,000
401 Al IR 201 I 283,000 150,000 133,000
01 A& HI 283,000 150,000 133,000
ORHH BEFINE ZLHIAH(RXNHY)
112,000, 000& 14 112,000
Odotg LH3S ZLFUNE ZHEBAM(RXI0H
) 71,000,000& » 14! 71,000
Oottg BT ZdSA
100,000, 000& * 14 100,000
NEANSsHEHAOEX R 416,560 416,560 0
201 Let24d] 3,760 3,760 0
01 At 2teltl 3,760 3,760 0
OunsiteE+y 2,000& =1,0000H 2,000
OuUSIEQUMI AREFUY (LI, EES)
352,000& *5H 1,760
301 et d = 412,800 412,800 0
12IJEEd=S 412,800 412,800 0
O70M0I &4 RS ESHAHI
1,000& *4,300L 82| » 128 412,800
SYHFZ XN & 26,348 138,622 A112,274
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EX: A4 ns
MY dADEREEX
Sl DEHRBASH (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
307 2Iz2to| & 4,000 0 4,000
2 2,000
& 800
= 1,200
09 2LHAHEXZ2 4,000 0 4,000
OXNZ0I I DEXHZXSAS
400,000 =10CH 4,000
= 2,000
< 800
= 1,200
HEznEotdst 251,001 439,000 A 187,999
gt = CCTVA X 251,001 439,000 A 187,999
201 et d| 45,000 20,000 25,000
02 E22%H| 45,000 20,000 25,000
ontsgrg 3t X 22H(2014~20164 X|
=) 45,000,000 =14l 45,000
401 A& HI L 2 0HHI 206,001 419,000 A 212,999
01 A& H| 204,517 416,848 NA212,331
OnrsegygsEJtier 8XIALY
5,200,000® *307H 2~ %99.28/100 154,877
ODNEERONEAHEI Wt EXAMY
50,000,000 «1A!I%x99 . 28/100 49,640
03 Al& 201 Y| 1,484 2,152 AN 668
ODNHEERINEAHEI Wt EXAMY
50,000,000 «1A!I%0.72/100 360
OonrsegrgsEJtier 8XIALY
5,200,000 *3004 &~ +0.72/100 1,124
HHSHAY (HENEN) 233,443 212,439 21,004
QlAERXAY|(HALA W ED) 171,531 141,963 29,568
OladAAY|(HAEDNEW) 171,531 141,963 29,568
101 @121 | 171,531 141,963 29,568
01 2= 160,853 141,963 18,890
OAZtl = 158,008
— 6= 11,401 x7H «50A| 2tx 122 47,885
—-72 10,299& » 10 x50A| 2+ *12E 61,794
— 8= 9,246 6 x50A| 2+ x 12 33,286
- 92 8,357& *3H x50A| 2tx 128 15,043
OX2MH&d 158,009,000 «1.8/100 2,845
03 RIAHL*ZZXHE = 10,678 0 10,678
OLBIAREXR 5,264
— 145 2(2%9) 5,264
A Z2ReE
14,000 *2H *15A| 2tx12& 5,040
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